N

[ BT dABVIBD) ©eEDHedSIHD BACOFD - 38 Bt }

)

\[ Dew- oy O&mne 1 [ egéw 12 } [ @ime® - W.HR. 8odBcm

Begenmds 2: In 8Os 8o ddeCsens 3.

Beyenmn @000 2.1: & 8ac ws@eciomem ececd

(1).00m e300 a8 oo @m38s »O0S Bwu® Drews’ ows @8c? detd
@00® 80 o¥y) ¢3n5is

1)..R>R 2).f.R> R’
f: x> x-1 f: x> x-1
3).f:R"> Ry 4).fR>R
fix > x-1 f(x?) = x

(2). v c1Pedm B OE De® , wndes® &3 B5OIE @LIBBIB).

1).fR >R 2).f: R’ > R"
f(x) = x+1 f(x) = x+1
3).£:R>R 4 [-2.2] > R
fix > x%-1 fix>vV4 —x2

(3). v c1Pedm E» D @ B ©8306535)
1).f(x)= x-2
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